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Ideals for irreducible component#ﬂ)f Xpar

I = (W —u® . 2u—1)

* 1 irreducible components of dim¢ = 0, with total 39 representations.

1The image of knot diagram is generated by the software “Draw programme” developed by An-
drew Bartholomew(http://www.layer8.co.uk/maths/draw/index.htm#Running-draw), where we modi-
fied some parts for our purpose(https://github.com/CATsTAILs/LinksPainter).

2 All coefficients of polynomials are rational numbers. But the coefficients are sometimes approximated
in decimal forms when there is not enough margin.
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LI*=(u* —u3®+...4+2u—1)

(i) Arc colorings

w0
-

a5 =

(
o= ()
(i)
(1o T2 1)
u=(L45)
(w1
(-
(-

ag —

—utt 4 240 2u7 —u? )

ar = \y" — 30 +4u" —uw® —ud 4+ u

w—ut+1
ul +2u —2ut

ag =
—4u® 4+ 7ul? — 4uM — 30 + 6u” — U +u
az = utd + 5u17 1201 + 156! — 9utt — w® + 447 — 2u® —uwd + u
—ud0 4+ Tu 4+ —2ul2 41
ag = 30—8u28+-~~+4u6—u2
(ii) Obstruction class = —1

(iii) Cusp Shapes

= —4u?® 44430 — 44?5 — 23203 + 40033 4 752u3? — 192031 — 1620130 + 564u%° +
2316u?® — 1092127 — 1948u26 + 1380u?® + 284u?* — 980u?3 + 150812 + 16u?! —
1892120 + 728u® + 776u'® — 660u'T + 44416 + 64ut® — 6921 + 332ut? + 236u!2 —
2520t + 128410 — 442 — 13218 + 96u7 + 20u® — 40u® + 20u* — 8u3 — 8u? + 12u — 10



(iv) u-Polynomials at the component

Crossings u-Polynomials at each crossing
c1,Cr uwd — w420 1
C2 w3 4 — 18u + 17
3, Co W+ 3B+ 12041
C4,C10 WU+ 2u41
Cs w4+ 2108 4 — 2 4 1
6 w3 —5udS 4 —12u+1
c8 w3 190 4 420 — 1




(v) Riley Polynomials at the component

Crossings Riley Polynomials at each crossing
1,67 0 19y 427 -1
C2 y*? — 13y°° + - + 3588y — 289
c3,Cy 3+ 3138 ... — 36y — 1
¢4, €10 30 =21y 4 427 -1
cs ¥ 5y . dy 1
6 vy o8y — 1
cs v 13y dy 1




Solutions to I}

(vi) Complex Volumes and Cusp Shapes

V=1(vol + y/=1CS)

Cusp shape

w= 0.913577 + 0.3794981

—2.06381 — 1.257721

—6.67108 + 2.895831

uw= 0.913577 — 0.3794981

—2.06381 + 1.257721

—6.67108 — 2.895831

uw= 0.867921 + 0.5396001

—0.02772 — 7.714891

—1.96279 4+ 8.940461

u= 0.867921 — 0.5396001

—0.02772 + 7.714891

—1.96279 — 8.940461

u = —0.824609 + 0.5170951

1.91036 + 2.984431

1.85991 — 4.4819471

u = —0.824609 — 0.5170951

1.91036 — 2.984431

1.85991 + 4.481941

u = —1.027710 4+ 0.0740941

—4.16770 + 3.619171

—10.06501 — 4.334551

u = —1.027710 — 0.0740941

—4.16770 — 3.619171

—10.06501 + 4.334551

u= 0.898181

—1.46294

—6.39810

u = —0.704254 + 0.5124901

2.25704 4 1.234341

3.23691 — 3.437501

u = —0.704254 — 0.5124901

2.25704 — 1.234341

3.23691 + 3.437501

u= 0.632327 4 0.5470101

0.63380 + 3.332941

0.02170 — 2.509361

u= 0.632327 — 0.5470101

0.63380 — 3.332941

0.02170 + 2.509361

u=0.139221 + 0.8072851

—3.46412 4 8.121341

—3.90397 — 6.028921

uw= 0.139221 — 0.807285]

—3.46412 — 8.121341

—3.90397 4 6.028921

uw= 1114960 + 0.4414271

—2.49096 — 1.594341

—3.82288 4- 0.431371

w=1.114960 — 0.4414271

—2.49096 + 1.594341

—3.82288 — 0.431371

u= 0.076025 + 0.7931621

—5.24072 4 0.250231

—6.76221 4 0.265221

uw= 0.076025 — 0.7931621

—5.24072 — 0.250231

—6.76221 — 0.265221

u = —0.132738 4 0.7751601

—1.00162 — 3.257581

—0.69216 + 2.506201

u = —0.132738 — 0.7751601

—1.00162 + 3.257581

—0.69216 — 2.506201

u = —1.142370 + 0.4831801

—2.09760 + 6.175881

—2.65093 — 6.879381

u = —1.142370 — 0.4831801

—2.09760 — 6.175881

—2.65093 + 6.879381

uw= 1194180+ 0.3885711

—4.89443 — 0.667471

—5.40097 +- 0.848131

uw= 1194180 — 0.3885711

—4.89443 4 0.667471

—5.40097 — 0.848131

u = —1.213030 + 0.3780721

—7.52915 — 4.124341

—8.59821 + 2.838061

u = —1.213030 — 0.3780721

—7.52915 + 4.124341

—8.59821 — 2.838061

u = —1.210580 + 0.4152581

—9.04143 + 3.957011

—10.59268 — 3.751091

u = —1.210580 — 0.4152581

—9.04143 — 3.957011

—10.59268 4 3.751091

u = —1.185450 + 0.5040161

—4.07758 + 7.985101

—3.85690 — 5.541371




Solutions to I}

V=1(vol + y=1CS)

Cusp shape

= —1.185450 — 0.5040161

—4.07758 — 7.985101

—3.85690 + 5.541371

= 1.200000 + 0.4862461

—8.53633 — 4.911061

—9.80910 + 3.061211

1.200000 — 0.4862461

—8.53633 + 4.911061

—9.80910 — 3.061211

1.194900 + 0.5126731

—6.5788 — 12.96901

—6.91871 4 9.047841

1.194900 — 0.5126731

—6.5788 + 12.96901

—6.91871 — 9.047841

—0.180542 + 0.6370951

0.64272 — 1.830131

1.22482 + 3.691551

—0.180542 — 0.6370951

0.64272 4 1.830131

1.22482 — 3.691551

0.339086 + 0.5406941

—0.25067 — 2.279321

—0.43670 + 3.343831

glele(e|g|g|g|g|
|

0.339086 — 0.5406941

—0.25067 4 2.279321

—0.43670 — 3.343831




II. u-Polynomials

Crossings u-Polynomials at each crossing
C1,C7 P —uP 20+ 1
C2 ¥ Fu®  — 18u+ 17
c3, Cy w4+ 30+ 12041
¢4, €10 W 2wt 1
€5 u? + 210 4 - 20 + 1
Co w3 —5uS o~ 12u+ 1
s u? +19u%8 + - 2u% — 1




ITI1. Riley Polynomials

Crossings Riley Polynomials at each crossing
1, ¢7 v 19y 22— 1
C2 y3? — 13y + .. + 3588y — 289
cs, Co v +31y%8 - — 36y — 1
€4, C10 30— 219 22— 1
Cs y® 5y 4 dy— 1
C6 y® 38 128y — 1
cs v 1338 4 dy— 1




